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] 200,000& *50H «9& 90,000
-28 & 203 140,000& x50 7,000
201 Let24E] 2,000 2,000 0
01 At 2teltl 2,000 2,000 0
O6.2xt=z 2,000
-Xe3FH ZHYX 500,000 20Hx2 2,000
206 = Hl 7,370 7,370 0
01 MHZ 4l 7,370 7,370 0
OJtZ2sttt & o2 EAE 3=2F
3803 *100IH*30 2 J| x4 3| 4,560
Ooxnzsdddl N 2+ 1,810
-PPECH 250& *5,0000H 1,250
-ErRE I 280& 2,000 dll 560
OMmg s 2 UM+ 1,000
-EME S 2 A 8,000& *44 =163 512
-gg 4,000 *24 *253| 200
IR 9 28,800& 103l 288
Ao NAMNLML(ZELRNSMNLE/RNSLZ Al 210,756 210,756 0
N AF0 =3 At 210,756 210,756 0




SN oYUs
FH: ddg XNANLAML (SEXLXNAMNL/ANALEA)
el X HEDSAALY (el @2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AT EX S AR O 210,756 210,756 0
401 AIEBIL 2 CHEI 210,756 210,756 0
01 A€ dl 210,000 210,000 0
Ogets e & 2 70,000,000& » 14| 70,000
OZ2U 52 € === FHISAM
20,000,000& » 14| 20,000
O2W dt== EFBISA 20,000,0003 * 14| 20,000
O Ot=etz FHIS A 20,000,000& » 14| 20,000
Osg1el s2ZHIA 20,000,000& »14] 20,000
Ostdel s EZTSA 20,000,000& » 14| 20,000
OEdel sZEHSAM 20,000, 0003 14 20,000
ORgld sZ22H & H+ZLISA
20,000, 0003 14 20,000
03 Al€ 2 HI 756 756 0
O2RR2 FUHAMY AL
210,000,000 *0.72/100%50% 756
BHSAHY (AL S)(IIEH/IIE) 385,404 387,347 A 1,943
IAPAH(ALT) 26,043 24,886 1,157
fANASE2HH| 26,043 24,886 1,157
101 @l 28] 26,043 24,886 1,157
03 RIHAZ 22> 26,043 24,886 1,157
O=sXza 2el 26,043
-Jl2s 968,550 x1H 12 11,623
G 968,550 » 12 x400% 3,875
-EE2F0tl 968, 5503 13 120% 1,163
-tE=g 60,0003 x1H 128 720
-G\ xt=g 57,7403 x1H 21 1,213
-=5=g 44 540 x1H +52= 2,317
-dAZ Al 130,000 18 x12& 1,560
-2 H0H s 50,0003 x1H «12& 600
-d32+g 968,550 * 1 x50%*22 969
- S2 X 70,0003 x1H 12 840
-HME e 968,550 x1H 10%+ 122 1,163
=23H(Hes) 359,361 362,461 A 3,100
FA2EH| 222,361 222,261 100
201 fEt2E | 222,361 222,261 100
01 A2 22| 40,589 40,389 200
Ol. 248y 32,675
“ENRY AussY 23,725,0008 23,725
-Gl 8,950
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2H: S
o QFS SEUHSY(LNITYET/AUHE)
& FsE HIEZR CEE-ED
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
OLFFHAN B 15,000,000 » 1Al 15,000
OstZ0I3d AR a 2 SHA A
20,000,000 x 1Al 20,000
SclbtE 29 159,230 159,230 0
301 et A= 159,230 159,230 0]
05 S& -0|2& -t ESEAZ 159,230 159, 230 0
Oscl &+ 134,480
-Jlgsd 200,000 41 «12& 98,400
A= 200,000 x41H «23] 16,400
-39 20,000 418 x23| 128 19,680
OBt& =& 25,0002 4959 «2 3| 24,750
NE2e 24 34,699 33,253 1,446
101 @121 d| 25,819 23,893 1,926
04 JIZtHIZ22XNSE S 25,819 23,893 1,926
OS2 A2 22|l 48,2403 2 %240 23,156
O4HEE I8 2 23,156,000& *11.5% 2,663
201 LBt | 6,960 6,960 0
01 AP 22| H| 2,160 2,160 0
O1.bt=2H| 2,160
“HeCNB A asY
90,000 x2J A x12& 2,160
02 2%l 4,800 4,800 0
O1.2Z22=22 Al 4,800
“A2C A2, A8 usE 4,800
HdIIe3 80,000 *3 A x12& 2,880
Hole=2 2 AHY sz
40,0003 #4353 & =12 1,920
301 Bt A= 1,920 2,400 A 480
09 SHAIAHIEAZ 1,920 2,400 A 480
OS2 M2 XS SALA 2HA
2,000 x2H x2Jl A~ x20L 128 1,920
WS MESHAH XM 244,700 184,398 60,302
gt e 12,923 12,606 317
101 e1214| 9,683 8,961 722
04 JI2ZtHIZ22NEE S 9,683 8,961 722
OGtE D] &IAIY o] 48,240& 2 90 8,684
O4HEE J1a8g=2 8,684,000 *11.5% 999
206 M = dl 3,240 3,645 AN 405
01 X2 bl 3,240 3,645 AN 405
OYYAANY SEH(RYSR)
1,600 257 *90L! x90% 3,240
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HFSES

B QHES SHUYSY(YUTTHEI /AVHE)
W MEHY TA (el @2)
SA - BB B (EH) - NRAY - BES of & o SSa HI D2
2egd gl 231,777 169,303 62,474
101 1Al 189,609 115,685 73,924
04 JIZtNZ22XNSE+ 189,609 115,685 73,924
O20 At AIE SSat&E4 SZFEH At
48,2403 x4 H «602 11,578
O4U=Ed JI2R2E3 11,578,000& »11.5% 1,332
O=24gclPa X+ &3 3l 2]
48,2403 6H 10 x123] 34,733
o4l &aRE=s 34,733,000& *11.5% 3,995
O=s&ael el 48,2403 «5H «3 »33| 2,171
QugxH FAZH (A itel 2F) 135,800
-l 2| 200,000& 70 »9E 126,000
-28 ¥ RHE 140,000& 70 9,800
201 2Bt2 Y| 36,818 42,218 A5,400
01 AtR 22l | 19,440 24,240 A 4,800
O1. € Et==ZH| 17,440
-20A A SSEA 2,240
datx Fad 800,000& * 12| 800
223 F 15,0003 x85 12 1,440
—LEAE 14,200
SHEFA(HI A, &2 S)0E L
A =8 1,000,000 «12& 12,000
S%3 FAH| 1,700,000& 13/ 1,700
st FaH 500,000& *12] 500
- MR SSeEd 2 1,000
HWels =M 500,000 *20H & 1,000
O6. 91t = 2,000
-XS&ZEH ZHYX 500,000 2CHx2 2,000
02 3224l 17,378 17,978 A 600
O1.332=ZLHA 15,600
“20AM NBESSEEE 3,600
&= 250,000& 12 3,000
=E23 50,000 x12& 600
—LEAE 12,000
TAEIIRsS ¥ dre3
1,000,000 «12& 12,000
O3. Al € ZHI =Xt 1,778
-LEANE AE R 783&2,270m 1,778
206 =4l 5,350 11,400 A 6,050
01 M= dl 5,350 11,400 A 6,050
O Jt2¥ & 24710 HE Mz 2,950
-2235 1,000& *2,000% & 2,000




2H 288
HH: QNS ZUUNSH(LYUDDHE /YUHT)
CHel: BB MBS X4 EER-ED
SA-EH . O (BH) - NBAY - BAS Ol & 04 SSa HDS2
-E&l 4| 5,000& *100%L 500
-0FALE 30,000& x15m’ 450
Otz &Z 34l X2 2,400
-PPIE CH 2202 *6,00004 1,320
-StDE &Y 2803 *3,000Z &l 840
=& A 1,200& *200H 240
QHES NUNLAY(TELN AW L/ ALTAI) 210,756 210,756 0
NAF0=2AAS 210,756 210,756 0
22X S AS O 210,756 210,756 0
401 AIEHIL 20| 210,756 210,756 0
01 Al& Bl 210,000 210,000 0
OAMIH2el or2et2 MEZE 20,000,000 14 20,000
Oog4e6el oot B 10,000, 0003 =14 10,000
O=42e o2t =& 20,000, 0003 *14] 20,000
OAMXA1el o2t MEE 15,000, 0003 =14 15,000
Oog41el o2ty L& 10,000, 0003 *14] 10,000
OBots &4 & B 70,000, 0002 =14 70,000
S ENEERCHE S PS)
10,000, 0003 =14 10,000
OE2ALE S22 (24)
55,000, 0002 =14 55,000
03 Al& 201l 756 756 0
OARD FOXAAY A&
210,000,000& *0.72/100%50%< & 2> 756
HHSHAH (LA S)(IIEH/IIE) 430,285 435,771 N5,486
J2ZHl(ES) 430,285 435,771 Ab5,486
2 M 29 H| 281,535 281,391 144
201 2 Bt2 4| 281,535 281,391 144
01 At 22l bl 41,960 41,760 200
O1. Qe+ 24| 35,350
“EAEY 2Bt EH| 26,400,000& 26,400
=Rl 8,950
Il 50,0003 * 14 %118 5,900
° o= 50,0002 x 15«61 3,050
O5.2 &l 3,010
-2EAE2Y S 3,010,000& 3,010
O6.9dxt=z 3,600
-HER2YG FHYX=E 3,600,000& 3,600
02 =294l 239,575 239,631 AbB6
O1.2ZQ3LMAl 202,254
M3 12,400,000& 12,400
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2H 288
N HY2IJY(LAES)(OIEH/IIE)
|22 g

Sel: I 2R (23 ) EERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
&I SIH(EY) HIRB 50,000& x12& 600
Mol E AIESE 2,400,000& 2,400
-Botse= 172,000, 000& 172,000
-IPTVEEESY AIEZ 37,000 x12& 444
—EANNE S 3 (RHE) 200,000 200
—EAYSES RERZ 12,100,000& 12,100
P NE= DA R = 2,110
SE(4E) 810,000 »1CH 810
2(Ag) 700,000& = 1CH 700
FSIPNE=PI(2)] 600,000 = 1CH 600
0O2.49 2 H| 13,589,000& 13,589
O3. A& &Hl = Xibl 16,176
-2 oS R X H| 5,000& *1,400S 7,000
-A 2R XH| 3,698& x1,751m 6,476
===l RN 2,700,000& 2,700
O4. Xt H EHH| 7,556
-SE2(2¥) 4,218,000& = 1CH 4,218
-2 (A¥) 3,338,000& = 1LH 3,338
HARF=XOYI 128,700 137,280 A 8,580
202 04t 128,700 137,280 A 8,580
01 2L Y] 128,700 137,280 A 8,580
OFQIPF=ANY 20,000 *39Y x132 x12& 121,680
OMZUELZZEX Hl 20,0003 »39H x»3 «3& 7,020
AR =X 14,600 14,600 0
203 ¥ 2 = &4 14,600 14,600 0
01 J|22H L R=AH| 7,900 7,900 0
OJ|#2dgd=a| 7,900,000 7,900
02 RN R =X H| 1,720 1,720 0
OFIAINNMAL2 =AY 40,000 #4344 1,720
04 2SI L RF=AH| 4,980 4,980 0
OBANSYA2 =T (HR:43Y) 4,980
= 350,000& x12& 4,200
-1 5,000&*x13¥ ~12& 780
et &2 2 EF SHI 5,450 2,500 2,950
405 Ko SH| 5,450 2,500 2,950
01 A&t = S F SHI 5,450 2,500 2,950
OkLE=S 1,200, 000& ~1CH 1,200
O3zlolal =at 250,000& * 10K 2,500
Oa1f 300, 000& *5H 1,500
OHiol=2 250,000& =14 250
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2N §1S
Hu: 50E SHUHSY(LNTTHI/AUHE)
el BEE MEBHY Z4 (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
01 & bl 3,900 3,900 0
O2&ss&a ARE 2 1,900
-MYIIESHHSE 2 383 1,900, 000& 1,900
O0=J] & 2 43 2,000,000 2,000
2 NYNEAS (2EL XN /X AUZ Al 18,000 18,000 0
X F=0=2AIS 18,000 18,000 0
A7 DX G AS O 18,000 18,000 0
401 Al B2 2 0HHI 18,000 18,000 0
01 Al&H| 18,000 18,000 0
OFUHIANALE X L HH|
10,000, 000& * 14! 10,000
O0EoIZ23U ANIEE g2
1,000,000& *8JH A~ 8,000
HHESHAALH (22S)(IIEH/IIE} 95,699 105,885 A 10,186
l2dbl(a3s) 95,699 105,885 A 10,186
2AHNE9| 42,759 39,655 3,104
201 Bt A H| 42,759 39,655 3,104
01 AL 22| 15,274 13,690 1,584
O1. 98284 11,210
~EA2Y Ysa s 9,650,0002 9,650
-~ (HE22) 30,000 * 1% #5224 1,560
05.3 4| 980
-2 N2Y S 980,000 980
O6.d Xtz 3,084
-HEE2Y dHYXtzE 1,500, 000& 1,500
-SA| SXz 132,000& x1CH =12 1,584
02 332 H| 27,485 25,965 1,520
O1.22222HA 17,419
&= 7,519,000 7,519
-MotET AR S 1,500,000& 1,500
—EANNHES 2 (XHE) 100,000& 100
—ENYS RER= 5,040,000 5,040
-IPTVEEXSY AIEZ 25,000& x12& 300
-OIHUIGIE AtEZ 30,0008 x12& 360
ISR MBS 2,000
}S(AaE) 1,100, 000& ~1CH 1,100
SO XS XH(EV) 900,000& = 1CH 900
~MIINSA(EY) MRS 50,000& «12& 600
O2.9 =l 2,257
-23| 1,376,000& 1,376
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2N §1S
H: HH2AAH(E2S)(JIEH/IIE)
el JI2HH(ERS) (ol @)
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O3. A& ZHl s Xt 4,471
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AR FA NI 39,600 49,920 210,320
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01 = LH o4 1l 39,600 49,920 210,320
OFYPFAAL 20,0002 12F«13L 128 37,440
OMZSUEZSI dHl 20,000 x 12«3 +x3& 2,160
R =2 11,460 11,460 0
203 YR =&l 11,460 11,460 0
01 )22 =4H 7,900 7,900 0
OJ&228g =4l 7,900,000 7,900
02 33t H 2= 560 560 0
OFJINH S =R 40,000& 149 560
04 FN2ELRZ=TH| 3,000 3,000 0
ORNSYAREAY (B :143)
250,000& »12& 3,000
et & 2 S HSHI 1,880 4,850 N2,970
405 XHoHF S HI 1,880 4,850 22,970
01 et EZFH S 1,880 4,850 N2,970
O3l o4l 0+ol = (900MHz) 440,000 2K 880
OMEE 22Xt 200,000& =54 1,000
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2M: ol
HH: HH2FHHI(HO0IS)(IIEH/IIEH

@2 Jl2Z 4l (tols) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SIS (AE) 1,000, 000& ~1CH 1,000
MO K= XH(EV) 600,000 =1CH 600
-|PTV 82HS2U AIS2 31,0008 x12& 372
O2.9 =l 660
-2Z)|(38) 1,100 x50 =1 *120L 660
O3. Al & &H| S XYl 4,369
-AHA 2R X4l 2,717 x835m 2,269
=== E=N ;]| 2,100,000& 2,100
O4. XH&FH e 3,338
-SE2(Aad) 3,338,000 «1CH 3,338
HAL2F=X0Y| 42,900 40,560 2,340
202 044 42,900 40,560 2,340
01 2L Hl 42,900 40,560 2,340
OFRLYR2F=ZX HHl 20,0008 *x13H 13 «12& 40,560
OMSULZLE2X Pl 20,0003 x13H «3U «3& 2,340
A2 F X H| 10,120 10,120 0
203 R F & 10,120 10,120 0
01 JI22HYRFAH| 6,600 6,600 0
OJjH2dgdgd2 =8| 6,600,000& 6,600
02 ERAIPAH 2 F=EH| 520 520 0
OXFSIMH L2 =AH| 40,000 x13H 520
04 EASHEIRFAH| 3,000 3,000 0
SLVEFEEESTIE-EREED
250,000& x12& 3,000
Ao 2 2EFSHI 4,950 0 4,950
405 XHA&HF S HI 4,950 0 4,950
01 XA 2 ZFF S H| 4,950 0 4,950
O#AIZ HIOI= 80,000 « 104 800
OdAE Xt 15,000& x50 4 750
Ol al o Xt 100, 000& *8JH 800
OXJE oKt 200,000 =134 2,600




